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ECONOMICS

Full Marks : 80
Pass Marks : 24

Time : 3 hours

The figures in the margin indicate full marks for the questions

Give the answers of Part-A in the OMR Answer-Sheet provided.

ALLOTMENT OF MARKS

Part—A (1)
Q. Nos. 1 to 20 carry I mark each : 1x20 =20
Part—A (2)
Q. Nos. 21 to 40 carry I mark each : 1x20 = 20
Part—B (1)
Q. No. 41 carries 2 marks each : 2x 3= 6
Q. No. 42 carries 3 marks each : 3x 3= 0O
Q. No. 43 carries 5 marks ! = 5
Part—B (2)
Q. No. 44 carries 2 marks each : 2x 3= 6
Q. No. 45 carries 3 marks each ; 3x 3= 0
Q. No. 46 carries 5 marks : = B
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(2)

PART—A (1)
( Introductory Microeconomics )
Choose the correct answer (multiple choice-based questions) :
1x20=20
W Teachl AIfR Sferear (= Reaiefes o) - <
v S @z e (IR Reafefes o)
W e geg’ (3 aEe R dHE)
1. Opportunity cost is also known as cost.

el RS I Jfere w1 IW |

SN W T e AR |

QI GEE G g A S

(a) prime (b) service
W G|l
0 |l
LI ffsreng
(c) alternative (d) mandatory
I5EE| JITONEF
Rew TGO
TR TR
2. Basic characteristic of mixed economy is
e w9 AT 7o CAME (xR
fipy o ifeq o1 CafEy =Tl
T TR TITETE TGS STl
(a) the operation of price mechanism
vq (P e
7 (e
A0 it A

/18
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(b)

(c)

(d)

(3)

the existence of both public sector and private sector
O 49 I Giesre 167 i

TR 4% @R ST Yoo 7S

TEIR WY AR MR @A oqrorre

the operation of Central Planning Authority
‘I ~IRTE T T

‘@ o I -1 fEm

‘Tiranit fowifle FemfR'H wedm

None of these

G 918 T

3o «Fibe T

SERFA AR 7T

What will be the marginal utility when total utility is
maximum?

T2 ool I 2T 2nfes Topcaifarer & 290

QB Tt A 20 2ifes Seoafer N 22

TR SRR SIRFAYR SRS S[ETR STerite 71 SeH?

(@ 1 (b) O (c) 2 (d) -1

The equation of budget line is

JCED (FAE NS 27

3CED IR TN =g

TSI §iE = SHHATE Saw

(@) pyx1+ppxy =M (b) p1xy1+Ppaxo < M

(©) p1xXy+Ppoxeg > M (d) None of these
(RIS 9hI8 w2y
4R «3Fibe Ty
ARR WA ey
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( 4)

5. As long as marginal utility is positive, total utility
ERSANCETCE e Toarel 41N (2 AP, o Ceofcaifarel
Tosd 213 2feT SorEiferel N 2@ AT, N6 Sl
e TETR AEEfET TEATE TEH AR, TH ATERieE

(a) remains constant (b) increases
& AT e ACF
& s RIECEY
EEERRIIC] EISIIC]
(c) falls (d) All of these
I I LECISE R EIC
I AW G el
TH SITATTH IR T
6. In case of Giffen goods, price effect is
PIcE IR (e, W R =
e SINaE oFea, W@ R R |
i SETEH e, S8 e S|
(a) negative (b) positive
A EINEE eI
SRIFE e
TG U3 GISITSITE
(c) zero (d) unit
7 UL
ey OGP
g’ BICO|

/18

(S)

7. The demand curve slopes downward because of
SIfEl (R OIe Seite i SiRE e
G271 (4= Ot e e e S F1Re
(a) law of diminishing marginal utility
TAZPT A1 Secararet [ifg
TP 2fes Secfrer [
(b) income effect Ne
o e
Y fRei
A MEm
(c) substitution effect
R gom f[er
om gom [ere
e TMEEAE Tem
(d) All of these
GBI
@R RS
SHRF T

8. Perfectly elastic demand is represented by a curve which is

ol Fefomrers viftm fefifte a1 carom =1
o Rfogrom vitn afefige v @t =)
3T AT BT RAERAE gl SR
(a) parallel to Y-axis

Y-3r%q IE9Ie

Y-SR TI80e]

Y-faor' e

/18
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(6) | (7 )

(b) convex to origin 1 (c) revenue (d) profit
T @ I e Rt S
¥ R fics Tee | Rl S
(c) parallel to X-axis | 11. When AP falls due to increase in employment of variable
XS STl | factor, then
Y —— | BATNIS SAMING A S (TR I/M IS AP I |, (I3
X-Rerf R | HoAIE SOICAR TSl S8 RSAR & I3 AP ZPT =, O
(d) downward sloping straight line 1 ng'su R WREH STEEAM™ Meli SIAME SeFE SE AP o @9 S,
Soite I SR A
e o T . ‘ (a) MP = AP (b) MP > AP
Neva W. 7 (c) MP < AP (d) None of th
g et giE o
TERHRE \ IR B8 7
9. Identify elastic demand, if price elasticity (e,) is | a8l g3
i JHRE AR T

Rz oI foare w1, Jfic W BT (e,) W
12. At zero level of output, TC =

Refoger vifzal *Are I, Tt 7 Bfegee (e,) Seetr R 4 F7A, TC =
WWW&W,@%%#W(%)W BeoAwe #fR| *7 =g, TC =
fogremf fommre e’ sl =
(a) 0-2 (b) 1-5 () O (d 1-0 , TC
, . , , (@) TFC (b) TVC (c) AFC  (d) AVC
10. Production function refers to functional relationship
13. When AC falls, MC

between inputs and
%QWW%Ww_awwﬁhﬂwwmﬂm |

@fem AC 2 #i’, MC
349 AC g™ °|, MC

o TN GATH GR -&F W TN TR SEY A |
@mwwm#ﬁﬁﬁwmq@aﬁ, Ssal AC a1 @w seret, MC
(a) cost (b) output (a) falls
RIS T 2T A
I Teome I Al
G| fagroms | GH SeTE
/18 [ Contd.
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(8) (9)

(b) rises | 15. Total Fixed Cost is presented as a straight line

o | T %9 I TomIvW 91 T @O
- | G &7 I Some 1 ARecAfS
| (a) parallel to Y-axis (b) parallel to X-axis
(c) initially falls, then rises Y-SPF] SRS X-SPF eI
(TS ZP1 I, O %S & = Y-S0 AT XS] SR
2GS 2P °, SR I = y-frer' R R X-Frer'f R
fifsrama @w STeTet, A Sieet () that slopes downward (d) that is upward rising
weee JIfN o @A 2
(d) None of these °°
g evx e e =P R cERTc AT eR )|
GRS TEARRY TEARA™ TS BRY @A™
qfo| @IS T |
SRy ARe T ‘ 16. Marginal revenue is earned by a firm by selling of
output.

TR REw afes
14. AFC at 4 units of output is T 20. AVC at 5 units of output T e ) T S

is T 40. AC of producing 5 units is a0 T Beote __ Rfds wmn enfee o ol 70 |

4 a5 BeoTe AFC = T 20. 5 ¢3F SeomTs AVC = < 40. T I o R e weT ot Stwfe|

5 ¢ BeomTe AC T3 (a) all units (b) average unit

4 3% el AFC = T 20. 5 @39 Ty AVC =@ T 40. AN (SNBCER 5T (MG

5 ¢33 SemA AC I e g T GTF

4 g Rgremeaa AFC 31 st T 20. 5 9k Rgremgama AVC am TS BFITHR T g

@ T 40. 5 WAk Rgram AC o1 Swi (c) an additional unit (d) None of these
@) T20 (b) T 40 <51 SRS b SBCIRT GBI 7=q

47l Sfeie 93 93fR 9IHs T
(c) T 56 (d) T60 AR I F APRF TR T
/18 [ Contd.
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17.

(10)

Price of a commodity is

«B1 AT T A

@3 AT T 2N

AR RN SO STEHE

(@) TR (b) MR

(c) AR (d) None of these
2CART GBIe T

) q@feR 3o T3

AERM AR TS

18. A firm earns normal profit when its AR = .

19.

/18

G2 I TR o7 we $¢q (IS O AR = :
G fh T FreiRT are o5 ¢ 399 OF AR = X
T+ et wET SR gemE SRR s $H AR = :

(a) MC (b) AC

(c) TC (d) AVC

In short period, the supply of a good is

TS Ry AWAT N

TFFICE G 2R SRR A

T WATE ST ST ST

(a) perfectly elastic (b) perfectly inelastic
o fefegrie o ez
o oo o wEfegrem
TS AT S AT

(11 )

(c) unitary elastic (d) less elastic
o33 fEfomre Y g
95 fZfogo v BfSwioe
e AR GH AT

20. If decrease in demand is equal to increase in supply,
market equilibrium will exhibit

oif2wT 2P 3t QI 33 S =W, TR SR (e
SIRAR ZF1 AW eI YR W 2, IR SRS (I
fommi TEAE RSP SR e SR, T TR R

(&) rise in equilibrium quantity
SIPI oIf{we 3f
oI AR 3%
TR T s

(b) fall in equilibrium quantity
ST <A 2
I <RI g
LINERIATEIRCEIREI]

(c) no change in equilibrium quantity
SeifRafE ST Afdme
LUESIECACER R B
iR TRwer foet

(d) rise in equilibrium price
1T W
IR T I
RIS ST T
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( 12 ) ( 13 )
PART—A (2) (c) Mode (d) All of these
( Statistics for Economics ) IEIE G3RRT SRCE!
. : : R Qe M
Choose the correct answer (multiple choice-based questlonls;22.0=20 -
s Teqchl AR St (vzu Resfefes o) : o ‘
A= S (TR S o) - 23. Statistics in singular sense is
1:'? Tegld s ﬁ’qm@i f .EF ) G35 He Statistics W 2'A
e e (91 9 qH M) :
( 43P e Statistics T Al

21. Who is known as the ‘father of Statistics™ wFR SifrTE Statistics 31 AT
@I e e Reme Prg’ RRons = Im 2 .

T R ‘iR RS Py’ T ofifSs 2 (a) collection of data (b) organization of data
W@me’mﬁﬁﬁﬁ? O MR TR SRS
all (b) Adam Smith SO R SR AP
(a) Gottfried Achenw. am Smi at
—_— o P L TR i gaEE

S TET ST o Y | (c) presentation of data (d) All of these

TeHTEE T W S | U Torgrem XA SR
(c) L. Robbins (d) J. B. Say | AR %vmﬁ:: B

<. R @ R ® ai g ' FPRFY T

4@ 7 @. R o1 , .

o TR Jo fo A 24. is the difference between the largest value and the

T smallest value of a data series.

22. Which of the following is a measure of central tendency? b1 O 1A Twe W A O TR TECIR ___ @A |
©oq (FIACH! (PR 2T T 24 ? 36 ©% T Ty I ¢} FFST TR STIT I
fare (@Ml (AN 2RISR Ao ? A TR AN 3RA w1 AR R A FReE sl
NI DIE] HigiaTgH s/an gaa?

we T g (@) Median (b) Standard deviation
(a) Arithmetic mean (b) Median YT T R
s 1S T4l p— S N
AP 51T 4 et A
/18 [ Contd.
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26.

/18

25.

( 14 )
(c) Range (d) Mean deviation
2] 1 5o
27 1 5™

Which of the following measures of central tendency is
known as positional average?

O (TP (PR (T e ZHOrS S JIfet 1 I ?

RAre TeiaRR (PG TN 2R gwere % 307 “ffve ?

TEER SEERE A R AR s@r gt S 1 e fify
ST

(a) Mean (b) Median
4 Y
J4F YT
TSRfSr TSRHT

(c) Mode (d) None of these
IETe GFART GbI8 I
I 3R g3fbe T
AT AR TEN T

The method involving the study of each and every item
of the universe is

s wBefe AfPCH! G RS TS RRT Al B !
srfeq wsefe AR GFCF RIS Tibe 26 el 2gem .
Soref e AFEHW A SR e WA SeaT SEH |

(2) sample (b) census
oo o
Afof G
fafrg gy wE

27.

(15)

(c) random sampling (d) None of these

RS 2AfoHT GIERT 9H18 T
Rl o 93Py g3ibe T
e A ABERE A@= 72T

When the data is classified on the basis of area,
classification is __

Qo o (Fad RBfes e =, iR Eulll
I oY e Fofete oifiam =, ik Eull

St @it rfer foremane e e S, o) s S

(a) qualitative (b) quantitative

BT AT
BITS MIELIRES
AR [EEISIN

(c) geographical (d) chronological
S[QIIEE IS
CONNers AT
YAEITTR HE 3N

28. Which of the following statistical measures calculable in

case of open-ended class?

(AT QA P Bag AR (SIRPTRT (FRTF 11 T 11 2
& QT (0@ e ARPIRIE TeSFR (PRl sl 31 ) 2
391 S AR YTRE @R TREAR @R T G g

(a) Range (b) Median
o] Il
pa NI E| LI
TSRS BRAT TSR
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29.

30. In case of two independent variables X and Y, correlation

/18

( 16 )
(c) Mean deviation (d) Standard deviation
1% Rve W% Roem-
% R T35 oo
MRS TR forama sEETE
The value of correlation coefficient lies between
TR BIRPITN fSog9 T |
LTI BCEF T -«g oo AT |
TRISEEAE TR SR AT 3 TowE o
(@) -1to O (b) O to +1
- 0 0% +1
-1¢3t% O 0 ¥ +1
-1fgz 0 0 fgs +1
(c) -1to +1 (d) —oo to oo
- +1 —o09(F +oo
-1¢F +1 —co (Y(F +oo
—1 fgg +1 —oo TR +oo

coefficient ryy between them is

751 TR 5o X O Y4 T WL rxy = W
75 TR Do X R Y- R BT ryy =
T 38 WarRg X AR Y 1 IR e Al ae iy =
cei
(a) +1 (b) O
(c) -1 (d) None of these
G2CIRT GBS Ty
Qe ¢3ihe 7y
AERFA AE T

(17 )

(SIGH T PIRIE I RIS (I W |
(STeR 71 SPITE ~4R RIS oA =9 |
AW SO GRS A HemEE s e

(a) retail price (b) wholesale price

LRI W MIES IR
YA TN 121N 7
CCiUC e wEER ¥

(c) producer’s price (d) Both (a) and (b)
TLAVIIRIT TN (a) I (b) T=ry
TRATAIA T (a) 4R (b) T=%
feganta <& () SR (b) W

32. Which of the following we use for base year?

o8 93 A3 ©om (I SR R I ?
Tofe 707 o fare (b o 379 30 2
T <ERRY vEr TR R S S

(@) O () 1

(c) 2 (d) None of these

(FART 9OI8 T
s  Iibe T
AR AN TS

/18

31. A consumer price index number measures changes in
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(18 )

33. If r=-1, cdrrelation is said to be
Mir=-1F,PEFF ___ [ @RIR)
MWr=-12, ERF __ TR
IR r = —1 9@, TREaETE AR 8T g S

(a) perfect positive (b) perfect negative

o 4T ofef Yo

o YA o Yo

AT ST Y TG T
(c) partial (d) zero

PP =0

LINRE I+

gEfed R’

34. The other name of semi-interquartile range is
Y- [BHPLT 2RI SO AN T
GY-SBHSYLS 2PIICIR S A ZCaM
gE-3 & aTErienR ANy ERETH T A 58T e

(a) mean deviation (b) quartile deviation

1% e 593 5o
5% T30 59%e oo
UENERIS I 3 AEEIR SErEE
(c) standard deviation (d) None of these
e e GRIRT GBre T2y
T {3557 GfoR qIfoe 7y
fauma siaEE YRR e e

/18

(2)

(19)

35. Which of the following is measured using Lorenz curve?
Lorenz (XY O (FINCH! (R 2.2
Lorenz ¢33 ficq Mesa =i o =1 2
Lorenz grawSil MM AteRd! A™ St ?

(a) Point of central tendencyj

@ agerer R
@I eRererR Ry
fire Argiug ol

(b) Income inequality

R POl
MICERSMER)

(c) Coefficient of correlation

T BT
DR BH
TSI AHFRNN TR

(d) None of these

(3ERA 9HI8 T
9o «3ibe T
JERF AR e

36. Mean deviation is determined using which of the following
formulas?
SR IR SIS o1 Roe e I
s @ v i e Reem Rfg I
TETR WA TS TS TR fegTE SR

2
o L= (g Efﬁ— (d) l}‘v’l‘

S
X 2
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(20)

37. Which of the following is not a pure (unitless) number?
O (FICO! T (933 [R) Ao w2
fare @l Rom (975 R2W) sk T 2
TETaf WA A e (AR AR) SR =
(a) Arithmetic mean

B TS
TZ TS
AT SRy
(b) Correlation coefficient
HRITIH BARTF
TR BAF
RIS S AT
(c) Coefficient of variation
[RLARRR:RIR
fava @I
TR THIRT
(d) Index number
oF AR
6P IR
HIREY s

38. The algebraic sum of the deviations of a set of n values
from their arithmetic mean is always

7RI A PR T1eT 3499 o1 Rpyfosmyes Swaifid qsree stege
9 T |

7RG HCAT N T N5 (A0 Ry Awsnfaey q@erps s
-3 I 7Y |

(21)

39. Which of the following measures can be calculated using
ogive?

e TR TR ST @R (w9 Ry TRT AR 2
SfSTe IRZT FCI AEI @ T#if6 T 1 I 2

31 firs eI TR A st fegem gr?
(&) Mode (b) Mean
REP P
IREF LAISE
TSR R
(c) Median (d) All of these
Rl GART Al
RSt q@feR A
TS AR TR
40. Median divides the whole series into equal parts.
TG CONCOR CINTIT Gy ©197® 1ol ¢ |
T T R T oyl 18 T |
TS TR e T SrEmiieTE T TR |
(a) two (b) three
w3 o
I o
3 I
(c) four (d) hundred
ICH G
o G
3 Tsh
/18 | Contd.



( 22 ) : ( 23 )

PART—B (1) , Or /& / Q< / gar

( Introductory Microeconomics
) Write two factors that affect the market supply of a

. . commodity.
41. Answer the following questions : 2x3=6 T3 GO ITH 5T 2SR COCaR w1 e o
SO 2PPTIRY B it - | | 43 TR R IS 2R Gl 3 e o |
e eryefr Teg we | TG ARA SR SHRATETE e EReamn 99 sTeen /R
TR GHEERE e € |
{ (c) What is meant by returns to a factor?

(a) Write two differences between positive economics and | Bemrer © AL

normative economics. ‘ TN SoMIcTa AR FECe AR 2

1Y SRS ST Srefare A Wers 71 oM foray | fegomef e FRTHATE e A gRrn?

I FYAfS G Arfare SR T 7B *nefy corean |

e N Or /7231 /9% / &t

Define marginal cost with simple example.

Or /& /&gt
/S ] SHEAPTR A IAd ke |
Write two characteristics of production possibility W AR 2T T ?{%fW e
curve. 1 RRART TETR T gee A
Cesfme STl (IR 1 CafEy e o ons 3x320
i stions : =
Teome BTl ([ Eﬁ 3 =T | 42. Answer the%—;::l;ﬂ?lng que
: T APTRS :
fegrreme St grEf A ST R R
Ty SAEERE R
(b) Briefly explain the concepts of short run and (a) What are the consequences of ceiling price (controlled
long run. .
price)?
ZTF SIF TGP 4R 4R o9 S Q1 7097 | oS T (RS )T R 192
I 3R AP < AN TS Aot vy <y oS T (A ) -4 el 2
i ~ ., o) SRR = AT
[ Contd.
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(24 )

Or /7131 /9% / Tat

Explain the concept of floor price (minimum support
price).

SR T (e AN T9)T Q=R 0 10 0
st v (e s W) -99 RS am e )
TeEie R S8 (SreTEfie gon S89)R araiEe: 9T

(b) Explain the concept of market equilibrium with the
help of diagram.

IR OIPIOR (RCH! foamm < w41 |
JER SRPTOR 4R BaPTR W10 e |
TR TRIGAEH FrEiEe) aramist 39

Or /7% /94 / Tt

The demand and supply functions of a firm under
perfectly competitive market are given below :

D=25-2P
S=-5+3P

where, P =price, D =quantity demanded and
S = quantity supplied. Find equilibrium price and
quantity.
qﬁﬁmwmawmwmmmm
faan 4999

D=25-2p

S=-5+3pP

'S, P =T, D =T8N SRA W% S = sy
’ QNS |
oI« g 3911 STIPIG wy

/18

(c) State any

( 25 )

o AR IR < AR BRG] N T
fare @eE -

D =25-2P
S=-5+3P

@Y P =WN, D =31 5if0 @R S = ANIF @157 | SRPIY
T GR oAfe [efa v

2SR FATEH FHAR TN T SR e T e e
@M ;-

D =25-2P

S=-5+3P
aua,p=a%w,D=ﬁvﬁﬁﬁwmﬁS=%Hmﬁmlvhﬂmﬁ

A7 R ot T

three assumptions of the law of diminishing

marginal utility.
A e el RIRER R e TOfBT Sraren forsi |

Or /7% /9% /T

properties of indifference curve.

G CafiEs fordi |

s a4 1 G T
ﬁﬁzﬂwm@mwmm'
m%awa@ﬁmwmwm

State any three

[ Contd.



43.

44,

/18

(26 )

State and explain the law of demand with the help of a
demand schedule and a demand curve. 5
3= SIf Pl S BifRW RN SRS vk RiYGT S e

91 :

<=6 TR Pl @R SN RNR TR viwe RRB S 9w
FET

T o wRRY SR o S g e fAEf e v ey
Cicel

Or /7331 /=137t /Tt

Discuss how market demand curve is derived from
individual demand curves.

JfEers oM ([ Rl (T @R G @R AR IR AW,
AT F4T |

IReers BIfEH (R (XCF ORI A& B @ AR T I, S
I

TER T d@En gEEE AR EEE AR e s Rew e,
AR |

PART—B (2)
( Statistics for Economics )

Answer the following questions : 2x3=6

(a) State two demerits of mean deviation.

s15 fIvee 151 SPIRY Seae 3 |
1% a1 76 SPIRer Bea g |
SR GTRAR A3 ey 7’|

( 27 )

Or /&3 /<< / ear

State any two merits of geometric mean.
LTGY TS R @I 01 Ry Bea 11 1

SIS PR A (A 76 TR Seary e |
syrgen i sTaResen A @ T |

(b) Write two advantages of sample survey as compared to

/18

census survey.
e SRR oS T SRR 51 e
] S T T S 6 R e

Or /7& /51 /T

i between questionnaire and
ite any two differences . .
\szgeduleyas method of collection of primary data.

m@ﬁ@%ﬂmmmﬁmwwﬂmﬁm
w1 onfee forsi |

e O TR
5« |
o @ ggEEn

A s Rl

ol T IR G TPPR TG (T
R difEEn R FRERH ST

(c) What is classification of data? Mention any one type of
C

< 2R ST I |
) iR @ (P 4
KL ﬂmﬁﬁm?mmmmmww
@i T
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45. Answer the following questions :

/18

(28 )

Or /153t /et / e

Write the relationship among mean, median and
mode when the distribution is symmetrical and
asymmetrical.

S S THORN ReTR (Fae 05, N ST I2oiq
o fora | ARG

el G RN ReNR (Fea 7455, Sy
4R
ok | ’ R RAT Ty

FHGNER R FRIRS TERaIRR Samm orf:
NN NI O S , T S

©oT] 2PPTYRY B i 3x3=9

e emafer eg w1 :
e GHEERA B 8 :

(a) What is dispersion? What are the four main measures
of dispersion? 1+2=3
facwer Wi & 2 Rewoem 30 19 o e 5 R o
Rl Wi 2 Reweieed 33 10 o6 o
TARATEATE] A17 MARAHEH TR S G FHae 07 717

Or /723 /941 / ar

g:gelrssi;aag dard deviation used as the best measure of
Wﬁmmmﬂ«@mmqmﬁmw@? 3
s o RO S 19 R o 77 2y N
frgrE!  SEEEE A AR e 39
AR 17 & g e

/18

(29)

(b) What are the essentials of a good measure of central

(c)

tendency?

3

(IR ATTOR GO S NIoR G TOPHR & 7 2
FIR 2RTOR b S o iAo i Fi 2
fire Tr@ioEh WA RS SrEn gARE TR T a?
Or /731 /5331 / et

Define mode. Write any two serious limitations of

mode.

1+2=3

e ST Tt | T R GO 51 @Fed et o |
Wﬂ:@lmnwmmiﬁ@mwcﬂmn
Wﬁwalﬁ%ﬂﬁﬁmﬁmﬁﬁﬁﬁm&@ﬁm

What is graphic

presentation of data? Write the basic

difference between frequency polygon and frequency

curve.

1+2=3

S (T T 57 IR 72gE AT IR (4T TES

sf{"naﬁﬂml

SR (FRA T £} 9 RS TP IR IRKIRO! (TR~ TG

@ﬁﬁé}qﬁﬂmﬂﬁﬁ%ﬂm?w&’l@maﬁi@mm

s{aonar?ﬂcamm

e EUlIGEIERE

What is meant

properties of

T AT Rl

Or /7% /941 /T

coefficient of co

correlatio
by rrelation. 1+2=3

mqﬁmﬁswvmwﬂﬁmﬁmw
1

n? Mention any two



(30)

46. Explain the meaning and importance of index numbers.
2+3=5

S5 AR oY W QP R [/ 91 |

T R Y 93} @Fed R 0 I |
iy safsE iy R M TR SEq)

Or /71& /931 / et

Calculate median from the following fre
u
distribution : THency

Class interval | 0-10 | 10-20 | 20-30 | 30-40 |40 & above
3 7 10 8 2

Frequency

What difficulty would you face, if you are asked to
calculate arithmetic mean to the above data? 3+2=5
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